
Operat ion  Note:  To ach ieve  the  bes t  cu t t ing  resu l t s  p lease  ensure  you  se lec t  
                         the  appropr ia te  b lade  to  cu t  your  se lec ted  mater ia l .



To ensure that the machine is correctly aligned at 90 degrees to the blade follow these steps.

Figure 1

Left Side Right Side

Figure 2

ng screws Right

Guide
Plate

 

Clamping knob

Figure 4Figure 3

Guide plate

Aligning the guides to the blade.
The tile cutter is aligned before it leaves the factory, but sometimes the guides may move during transit and/or 
during use and as a result may need to be re-aligned.

2) Move the blade back and forth to ensure that the blade is maintaining a constant and equal contact 
    against the guide.
3) If this is the case then there is no need to make any further adjustment.
4) The complete guide system is mounted on a single black metal plate that is adjustable.
5) To make adjustments loosen all 4 adjusting screws and both clamping knobs (Fig 2)
    This will allow the complete plate to be moved.  (Fig 3)
6) Move the plate as necessary so that the blade moves back and forth with constant pressure on the square
7) Once you have this right.  Place the square across both left and right guides and adjust the right guide so that

8)  Tighten up all screws and set clamping knobs in the desired position. 



IMPORTANT SAFETY NOTICE
Please read before moving machine on wheels

1)   After legs are safely in position and tightened with lever clamp
    

Do not move the tile cutter while resting on wheels until you have inserted safety 
locking clamps.

2)   Place star clamp(supplied) to the rear of the leg to secure
      and lock into position.

BEFORE FIX
THE CLAMP

FIX THE CLAMP

1 x Additional
STAR CLAMPS

2



3

Do not expose tools to rain



4



55

Then perform the cutting as normal cut.

Do not force the work piece, otherwise may cause the blade to 
overheat



6



NOITPIRCSED.ON TRAPNOITPIRCSED.ON TRAP
retnioP14A teef rebbuR1

etalP24B teef rebbuR2
lebaL gnitaR liaR34eldnah pmalC3
lebaL gnitaR liaR44knat retaW4

5 Hex head screw M6X12 45 Blade lock nut M12-LH
egnalf retuO646 rehsaw gnirpS6
MM002 edalB746 rehsaw talF7

8 Hex head screw M6X20 48 Wing nut M6
etalP94W5.6 pmup retaW9

etalp noitcetorp retaW05gulp retaW01
11 Pan head screw M5X12 51 Inner flange

draug rennI255 rehsaw gnirpS21
A pmup retaW355 rehsaw talF31

kcoc-T45draug retuO41
15 Hex head screw M6X25 55 Motor 800W

hctiwS65bonk kcoL61
elbac rewoP756M tun xeH71

8M tun wercS85A emarf etatoR81
8 rehsaw gnirpS95niahc tekcarB91

8 rehsaw talF06bonk kcoL02
gulp reffuB16A kcolB12

troppus rotoM26B kcolB22
61X6M wercs daeh naP36bonk epyt ratS32

eldnah gnidloH46eguag retiM42
25 Pan head screw M4X6 65 Rail pointer

21X8M wercs daeh xeH664 rehsaw gnirpS62
9 gnir elcriC764 rehsaw talF72

 gniraeB86retnioP82
dor xeH96bonk delrunK92

pmalc eriW07tnemges eguaG03
gnir evitcetorP17ediug tloB13

A gnicarB27A elacS23
B gnicarB37B elacS33

02X5M wercs daeh naP47A liaR elacS43
B pmup retaW57B liaR elacS53

36 Basin table B
37 Basin table A
38 Working table
39 Rotate frame B
40 Pan head screw M4X16

6

PART LIST & DIAGRAM for 600MM Tile Cutter

7



8

1
2

72

73

4
18

16

41
42

15

17

3

10

39

9

74

44
21

22

20
43

19

45
46

47

51
53

48
49

50

52
54

75 55

70

57
58

59 60

61
11

71
69

68
67

64

62

65

66

36

24
23

25
26

27

30

29
31

35 3233
5

6
7

8

14

28

34

37

38

40

56

63

12
13


